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1, Choose the correct answer : 1x8=8

(a) The term 'society' is derived from the

Greek / Latin word 'sequi'.

(b) According to Individualism, the relation
between individual and society is internal /
external.

(c) Family is a primary / secondary group.

24P/12S5 (Turnover)



■

^ .

'•?' '

<;"iv

"V •■
I  '■. -

(2)

control Is / is not the condition of social !
progress, ^

Seev™ nation'is derived from the Latin / ^Creole word'naUo'.

by the ^ government of the people.
Abraham Lincoln.

(s) Truth and

^''=°'ding,oM_ . . . /
permanent * ^^Pitalism is temporary '

(h)

^me short

The

notes " any five of the following :
4x5'

nature of(b) T„ . of man' ^^ntution
Social.

P'"ogre
("f Lib'

Ss

erty

iracti

'•'^dkar's
"^harace.-'^cteristic;

2'^P/1285

( 3 )

3. Why is social philosophy called normative?
Discuss the scope of social philosophy. 5+8=13

Or

What are the theories regarding the relation
between individual and society? Evaluate the
theory of socialism. 2+11=13

4. Briefly state family as a social group. Explain
different kinds of family. 3+10=13

Or

What is social evil? Explain the causes of social
evU. 3+10=13

5. What is political philosophy? Discuss the nature
and scope of political philosophy. 3+5+5=13

Or

What is justice? Explain Aristotle's theory of
justice. 3+10=13

6. Explain and examine Gandhiji's concept of
Sarvodaya. 13

Or

Define Class after Marx. What are the different
classes in capitalist society according to Marx?
Explain. 3+10=13
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